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SH AT
Y qoiDH N L e
el EESE gl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OGMCEIH SYHE(HE) 84 490,000
02 Zeltl 10,000 10,000 0
OFesd A3 10,000
405 AtatE = 40,000 41,990 1,990
01 TR ESFISHI 40,000 41,990 21,990
OFEsd 29 - &2 2378 40,000
MEHEHFEE 30,239,698 28,828,262 1,411,436
= 2,471,774
= 313,295
) 403,000
ES 94,000
== 26,957,629
SHEEEAE 2E 1,892,684 1,279,520 613,164
= 397,928
[ 1,494,7%
NS M (HEAY) 295,000 295,000
202 04dl 4,000 4,000
01 2L AL 4,000 4,000
O=Z=2Atg =LHOHI 4,000
401 AIEHIZ SR OHYI 291,000 291,000
01 Al&HI 282,910 282,910
OAl£H] 282,910
02 Zeltl 5,9% 0 5,9%
Ozl 5,9%
03 A2 2 0HYI 2,095 0 2,095
OAIE20HbI 2,09%
MO0 121,498 52,244 69,254
= 60,749
= 60,749
401 AIEHIZ SR HYI 121,498 52,244 69,254
= 60,749
= 60,749
01 Al&HI 117,878 51,744 66,134
OAl&H| 117,878
= 58,939
== 58,939
02 Zeltl 2,745 0 2,745
Ogeldl 2,745
= 1,372
= 1,373
03 Al 20HHI 875 500 375
OAIZ20HHI 875




A ARITEOIRA
M pARlEEE
Rl MEEIANLE EF EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
= 438
=S 437
OIMIZHA M2 S SA=I0t)] 156,212 0 156,212
= 78,106
< 78,106
401 AlEHIZ S 0HbI 156,212 0 186,212
= 78,106
= 78,106
01 AlZ28| 151,857 0 151,857
OAIZH| 151,857
= 75,779
= 75,778
02 Zeltl 3,530 0 3,530
OZell 3,530
= 1,765
< 1,765
03 Al S THYI 1,125 0 1,125
OAlE=20Hbl 1,125
= 562
= 563
eSS 23,400 24,200 A800
= 11,699
s 1,701
401 Al HIZL 201 23,400 24,200 A800
= 11,699
& 11,701
01 Al&H| 21,437 23,942 A2,505
OES= 21,437
= 10,718
= 10,719
02 2/l 1,710 0 1,710
O=g Zcldl 1,710
= 855
= 855
03 A2 THYI 253 258 YaNG)
(OES=RNE= 253
= 126
< 127
CRE2 2,695 2,695 0
201 fet=3| 1,925 1,925
01 AtR2te|Hl 425 425
O=7g XY &% & X 425




A ARITEOIRA
M pARlEEE
e AEEEBAE 25 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 1,500 1,500 0
O==8 W 2SHY 4l S |2l 1,500
206 M=l 770 770
01 M=4l 770 770
OLRE W == &cl 770
SEAMHIAZR0l 2EXE 26,088 23,518 2,570
= 13,044
= 13,044
101 e124d| 26,088 23,518 2,570
= 13,044
=S 13,044
M ORINZZ2NSE S 26,088 23,518 2,570
O==32CIUI0IE 26,088
= 13,044
< 13,044
SMENBIAZR0] 2SN (HEAIY) 27,088 23,1%4 3,934
101 21A4H| 27,088 23,1%4 3,934
04 JIZtN2Z2 XS 27,088 23,14 3,934
Oz 2elQl 27,088
MEAMHIAERO =& 4,383 9,000 N4 ,617
101 e124d| 4,383 9,000 A4,617
M ORINZZ2NSE S 4,383 9,000 N4,617
OUEMHIAER0l 2EXNE =& S 4,383
=S| 225,803 225,803
101 @124H| 170,500 170,500
M IIRIMZENSES 170,500 170,500
Osd=+==a 2| 21| 170,500
201 Zet=3h] 45,200 45,200
01 AtR2t2lHl 44,200 44,200
Ox==d 82 = 44,200
2 Ss52g4l 1,000 1,000 0
Osgd==2 |2l 1,000
202 04l 1,275 1,275
01 2LHoIH 1,275 1,275
OSZ==S3 2elLY A o] 1,275
206 M=l 6,660 6,660
01 M=4l 6,660 6,660
Osd==2 HEZ 7Y S 6,660
405 AtatE=H 2,168 2,168
01 TR =S FSHI 2,168 2,168
Osgd==2 2| 4P EH 2 2,168
STHHF & 2tel 95,238 100,000 N4, 762




SH ARITIEATA
Y MBABE
ool ARBZIAL 2B (o)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 66,666
=S 28,572
202 04l 5,000 3,500 1,500
= 3,500
== 1,500
01 =LHAHI 5,000 3,500 1,500
OSAHHF & 22l &X A ¢ 5,000
= 3,500
& 1,500
401 Al HIZ R 0HbI 90,238 96,500 6,262
= 63,166
= 27,072
01 Al&H| 89,430 95,500 26,070
OE YL 89,430
= 62,600
s 26,830
03 A2 THYI 808 1,000 A192
OBXMF Nad= 808
= 566
= 242
SN & 2l 3 66,000 36,000 30,000
= 33,000
= 33,000
401 AlEHIZL S0 66,000 36,000 30,000
= 33,000
s 33,000
01 Al&HI 65,560 35,622 29,938
Osis=d 23 65,560
= 32,780
[ 32,780
03 AlESTHYI 440 378 62
(OFEIN=y=ri= =P fa 440
= 220
= 220
SEYN & SIS 2 140,036 140,037 A
101 @124H| 127,761 127,761
M ORIMZZ2NSE S 127,761 127,761
OS8R it & 23S 4 2| 22| 127,761
201 er23| 8,000 8,001 A1
01 AtR2t2|HI 6,000 6,001 A1
OR=3 S8 &3 UFEX S 6,000
02 s3=gHl 2,000 2,000 0
— 5 —




A ARITEOIRA
XM A2USIAEE
;F?_—i: /:Fgliz??/\l/é S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
faSL 2l 2,000
206 M=l 4,275 4,275
01 MZH| 4,275 4,275
S3stSa 2l Ml 7Y S 4,275
Ordistal 2F2tel 6,840 6,840 0
206 M=H| 6,840 6,840
01 M=8l 6.840 6.840
O0rdst 24l S 6.840
SSAHEIRDI 254,800 255,046 N246
= 127,400
s 127,400
101 @124H| 188,400 240,184 Ab1,784
= 94,200
[ 94,200
MU IIRINZZE2NSES 188,400 240,184 A51,784
O=IHRIIRFA R ALE 2124H| 24,000
= 12,000
= 12,000
O=IHIIHEES el2t| 164,400
= 82,200
= 82,200
201 Ler23| 45,000 8,058 36,942
= 22,500
& 22,500
01 AtR2t2|HI 36,500 3,058 33,442
OSSLENRI| A28 78 S 36,500
= 18,250
= 18,250
2 Ss52g4l 8,500 5,000 3,500
OSB3It I| JIHEH 2 2el 8,500
= 4,250
= 4,250
206 MH=Hl 15,900 2,104 13,79%6
= 7,950
< 7,950
01 M=4l 15,900 2,104 13,796
OSSR 438 78 S 15,900
= 7,950
= 7,950
405 KHaHE SH 5,500 4,700 800
= 2,750
=S 2,750
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A ARITEOIRA
M pARlEEE
Chel: QUOIAIEOIR J|BHEA (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 8,123 8,123 0
O=ZAM AIEEX 22X 7 8,123
=2 XS & R FEAE 13,700 13,700
101 @124H| 5,100 5,100
04 JIZtNZ2 2N S+ 5,100 5,100
OXEZSHT AlEXIZel 21| 5,100
202 04| 6,800 6,800
01 =LHOHI 6,800 6,800
OXSE8SAT ZAOH] 6.800
206 MH=HI 1,800 1,800
01 MHZH| 1,800 1,800
OXSEEsSA+ AKX 22l XM 1,800
ARRH THBH & JFED1= JHE 23,332 23,332
101 2I24H| 21,707 21,707
04 JIZtNZ22 NS+ 21,707 21,707
O&Hl ZXj2te| el 21,707
206 M=H| 1,625 1,625
01 M=8l 1,625 1,625
Ot S2 & 2elXti 1,625
IS FHof AEAESS HSAMY 64,000 64,000 0
101 @124H| 45,170 43,414 1,756
M ORIMZZ2NSE S 45,170 43,414 1,756
OJ|=83l FHAMSAMEE TAH 2] 45,170
201 Let=23 | 11,200 13,000 A1,800
01 At2teltl 9,700 10,500 A800
OP[ELE I EONEINEE S EWNEP 2
NS 7,500
OJI=Hst FALEASS LIS 2,200
2 S5=2g4l 1,500 2,500 A1,000
OJIBHsl HAMBASE S Al X2
el 1,500
202 04l 7,630 7,586 44
01 =LHOHI 7,630 7,586 44
OJ|=83l HYMHMES ALY 7,630
ALIEHASE 2 68,459 35,868 32,591
= 47,922
= 20,537
101 e124d| 52,128 18,282 33,846
= 36,490
= 15,638
M ORIMZZ2NSE S 52,128 18,282 33,846
OHEZZLIHERZ S 52,128




A ARITEOIRA
M pARlEEE
Chel: QUOIAIEOIR J|BHEA (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 36,490
=S 15,638
201 Ler=23 | 16,331 15,586 745
= 11,432
< 4,899
01 AtR2t2|HI 10,361 9,000 1,361
OXEtdl S 10,361
= 7,253
= 3,108
02 S52g4l 5,970 6.586 A616
OXEFALI(RF S) 5,970
= 4,179
=S 1,791
ded =g XA 100,000 100,000 0
= 50,000
& 50,000
101 21A4H| 33,432 19,200 14,232
= 16,716
= 16,716
04 JIZtN2Z2XNSE+ 33,432 19,200 14,232
OAIE ZAL A4 33,432
= 16,716
= 16,716
201 er23| 50,900 56,400 25,500
= 25,450
& 25,450
01 AtR2telHl 46,400 50,400 24,000
OXE SRl S 14,400
= 7,200
= 7,200
OLfEd 2| 12,000
= 6,000
= 6,000
OsSAHASEANE 248 S 20,000
= 10,000
[ 10,000
02 S3=gHl 4,500 6,000 1,500
OXg =gl S 4,500
= 2,250
= 2,250
202 04l 8,000 8,000 0
= 4,000
s 4,000




A ARITEOIRA
M pARlEEE
Chel: QUOIAIEOIR J|BHEA (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 8,000 8,000 0
OUuRgE=Z & o oyl 8,000
= 4,000
< 4,000
206 MH=H| 7,668 11,400 A3,732
= 3,834
= 3,834
01 M= HI 7,668 11,400 N3,732
OAlEE =AMz 78 S 7,668
= 3,834
= 3,834
MEMEOALEST(MHELMLSI2LIEHEAIY) 41,538 41,538 0
101 @124H| 17,000 13,380 3,620
M IIRINZENSES 17,000 13,380 3,620
OuttgEe 2LIHERE 17,000
201 er=2 3| 1,000 1,000
02 S3=gHl 1,000 1,000
OZ=MUFI| #=cl S 1,000
202 04| 7,000 5,000 2,000
01 =LHOLI 7,000 5,000 2,000
ORLIHY ol S 7,000
206 M=l 16,538 22,158 A5,620
01 MHZH| 16,538 22,158 A\5,620
OMEEY 22l S 16,538
MHHMSLME(3E) 97,618 89,544 8,074
= 48,809
S 48,809
101 21AH| 97,618 88,211 9,407
= 48,809
= 48,809
M ORNZZ2NSE S 97,618 88,211 9,407
Ot g ozl 2] 97,618
= 48,809
= 48,809
SHHMSLME (X2) 2,89 3,080 A181
= 1,450
[ 1,449
405 KHoHF S| 2,89 3,080 181
= 1,450
= 1,449
01 ML ESFISHI 2,89 3,080 A181
OdEHzg s 2 2,899
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A ARITEOIRA
Hm: NRBADE
e ‘;EAIZ@? Jlgtxd EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
= 1,450
S 1,449
AHHNSUREH (L) 12,633 0 12,633
101 2124d| 12,633 0 12,633
04 JIZtNZ2 2SS+ 12,633 0 12,633
OuteEais2met =& 12,633
PBE S 104,075 105,875 1,800
101 e124d| 85,000 85,000 0
04 JIRHNIZ2Z2XSE+ 85,000 85,000 0
OUES B4 el AR 85,000
201 Zet2 & 7,950 7,950
01 A2t 5,950 5,950
O=4)| gXtg S 5,950
02 S3=24l 2,000 2,000 0
OMENMEL RXES S 2,000
202 O] 2,125 2,125
01 =LHOILI 2,125 2,125
OBA= 88XM S 2,125
206 =4I 9,000 10,800 A 1,800
01 M=4l 9,000 10,800 A1,800
O"USR &IZS HE AQXM 7 S 9,000
NEE JIBE Y WSS SHAE 38,362 38,362
101 e124d| 32,062 32,062
04 JIZtN22 X S8 32,062 32,062
O MZShY & 22| 22 32,062
206 =4I 3,600 3,600
01 XM= 4l 3,600 3,600
O3AI= 2l MM 78 S 3,600
207 AR 2,700 2,700
03 Al 32t 2,700 2,700
(OINI= P ESESNIDNIN IR = 2,700
HLR A2 AlE 13,600 13,600 0
101 2124d| 8,000 8,000
04 JIZtNZ2E2XSE = 8,000 8,000
O4&E HIgotRA 22l ZAIAY IR 8,000
201 L= 2,000 2,000
02 S3=gHl 2,000 2,000
OLRAIE B2 S 2,000
207 AR 3,600 3,600
03 Al &=t 3,600 3,600
OAlEStHl 7 S 3,600
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A ARITEOIRA
Hm: NRBADE
;F?_—i: QEAIZ@? Jlegtad (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A0LE & THEH Al AFE X 24 & 20|18 25 19,202 19,202
101 @124H| 5,000 5,000
M ORNZZE2NSE S 5,000 5,000
OAlE 22X LAIAIY 212 5,000
206 M=l 1,800 1,800
01 M=4l 1,800 1,800
OAIEXl 2el N S 1,800
405 AtatE = 12,402 12,402
01 Tt =S F=HI 12,402 12,402
OAOIE AIAE HH| FS 12,402
SE 3 Y & dedjs g2 29,408 49,408 220,000
101 @124H| 21,308 21,308 0
M ORIMZZ2NSE S 21,308 21,308 0
OAIEEx 218y 21,308
206 M=l 8,100 8,100
01 M=4l 8,100 8,100
OANE T & Mg 28 S 8,100
SEANE=E 2 1,992,044 2,040,258 N48,214
= 42,999
= 1,949,045
LT AIE (HEALY) 169,328 32,344 136,984
101 e124d| 7,328 5,344 1,984
M ORNZZ2NSE S 7,328 5,344 1,984
Ogzae] LAASE 2y 7,328
401 Al HIZ 2018 162,000 27,000 135,000
01 Al&H| 158,000 27,000 131,000
OXHLE Al&H| 131,000
OgE=+ 27,000
02 Zeltl 4,000 0 4,000
OXHUE A2/ 4,000
ANEE 2l 442,075 442,075 0
101 @124H| 23,750 23,750
M ORIMZZ2NSE S 23,750 23,750
OFAL HA2d 2| 23,750
201 er2 3| 198,625 198,625
01 AtR2t2|HI 3,825 3,825
OAlZ2t2[(JI1,01H &) |A&e 25+ 3,825
02 S3=gHl 194,800 194,800 0
O=24 AdZH|(2E2) 50,000
OAERXI(AIE) 68,800
OXt& =Xl 25,000
Osdt=XcelAld S 2t 18,000
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401 Al HIZL 201 248,000 248,110 AT110
= 173,600
== 74,400
01 Al&HI 242,100 242,306 A206
OArt 242,100
= 169,470
< 72,630
02 Zeltl 5,400 4,94 406
OAr2 g 5,400
= 3,780
= 1,620
03 Al 20HHI 500 810 A310
OAtZE 500
= 350
== 150
SHOHEI AIRETIAlE (2E) 318,432 0 318,432
= 222,902




A ARITEOIRA
M pARlEAEE
&elr ERE M2AelES (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 95,530

202 048l 1,592 0 1,592
= 1,114
= 478

01 =LHOHI 1,592 0 1,592
OofietE Al 1,592
= 1,114
= 478

401 Al HIZL 201 316,840 0 316,840
= 221,788
< 95,052

01 Al&H| 310,222 0 310,222
Odfi B A 310,222
= 217,156
= 93,066

02 22/l 6,300 0 6,300
Oofi A 6,300
= 4,410
= 1,890

03 Al 2 CHHI 318 0 318
OolierE Al X 318
= 222
[ %6

AtETHOH Xl EDI(AHHHNSHE LM 24) 97,618 92,920 4,698
= 48,809
= 48,809

101 e124d| 81,018 76,520 4,498
= 40,509
= 40,509

M ORIMZZ2NSE S 81,018 76,520 4,498
Oatd HoliS0Z LM 81,018
= 40,509
== 40,509

201 er2 3| 11,600 11,400 200
= 5,800
= 5,800

01 At 2|l 9,000 9,000 0
Odtl=d & 224 257Y S 9,000
= 4,500
= 4,500

2 352484l 2,600 2,400 200
OogrE =% 78 S 2,600
= 1,300




SN M-TRARA
Hu: MRBAEE
el ERE Ma2eE2S (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
[ 1,300
202 o1l 3,000 3,000 0
2 1,500
=3 1,500
01 2U ot 3,000 3,000 0
odtgldaliE ole =8 3,000
2 1,500
=3 1,500
206 THZ 4 2,000 2,000 0
2 1,000
=3 1,000
01 X=Hl 2,000 2,000 0
OMBHHSLMAM L LHMET S 7 2,000
2 1,000
=3 1,000
MRTHHE X2l ZOI(MeHNSH LN 23) (=2 2,89 0 2,89
)
2 1,450
= 1,449
405 THH S| 2,8% 0 2,8%
= 1,450
=3 1,449
01 I 2B H S| 2,89 0 2,89
O ZLHMETL 2,89
=2 1,450
= 1,449
NEELERIEELEED 10,100 30,298 A20,198
2 5,050
=3 5,050
401 AIEHIZ 2 0HY] 10,100 30,298 A20,198
2 5,050
& 5,050
01 Al&H 9,800 29,984 A20,184
OJIEt SLEiE UX 9,800
=2 4,900
=3 4,900
03 Al 0HH 300 314 A4
OJIEt SZHlE %A 300
2 150
=3 150
AUSTHASYE 2H(2d) 41,280 145,000 A108,720
= 29,940
=3 11,340
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A ARITEOIRA
Hm: NRBADE
&elr ERE M2AelES (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 41,280 145,000 108,720
= 29,940
== 11,340
01 Al&H| 41,280 128,434 A87,154
O2URMESE RSN 41,280
= 29,940
& 11,340
SHet SEEM(EE) 80,000 79,360 640
= 40,000
= 40,000
401 Al HIZL S 0HYI 80,000 79,360 640
= 40,000
=S 40,000
01 Al&H| 74,500 76,230 A1,730
OoliehtSeEr Al 74,500
= 37,250
[ 37,250
02 Zeltl 4,700 2,300 2,400
Odfi IS E X 4,700
= 2,350
= 2,350
03 Al 20HHI 800 830 A30
OofietotSe Al 800
- 400
== 400
AUSPHESE URFAL S SR (EE) 644,000 644,000
401 Al HIYL S CHYI 644,000 644,000
01 AlZH| 582,000 582,000
OALRMHEESE HYLIRTAL S SX| 582,000
02 2/l 60,000 60,000 0
OLUSMAEE HZURFAL S 2l 60,000
03 Al 20HHI 2,000 2,000 0
OLUSMAEE HZURFAL S Xl 2,000
ASTEHA 7= & 2H(L28) 7,698 6,400 1,298
= 3,076
< 4,622
201 er=23y| 2,400 5,000 /2,600
= 959
= 1,441
01 AtR2t2|HI 2,400 5,000 22,600
Ot=0g & &3t 221 SAHIS 2,400
= 959
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A MRITIReIRA
M pARlEAEE
el ERE Ma2eE2S (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 32,000 1,406,784 A1,374,784
01 Al&H| 32,000 1,406,784 N1,374,784
OAM 2 32,000
405 KHoHF S| 21,250 21,250
01 ML ESFSHI 21,250 21,250
OARA BII1F 78 S 21,250
XXHH RS 2e (28) (M EA) 3,865,000 4,986,000 A1,121,000
202 04| 9,000 8,000 1,000
01 =LHOLI 9,000 8,000 1,000
OBYR! T4 BRIAS U ADHOIS 98
£ 9,000
401 Al HIZL 201 3,588,000 4,895,000 1,307,000
01 Al&H| 3,500,000 4,706,000 /1,206,000
Outds2d ANE &5 3,500,000
02 Zeltl 80,000 182,000 102,000
OFE =d3A Zeldl 80,000
03 Al 20HHI 8,000 7,000 1,000
OF 2 ZEA AIZ=20HHI 8,000
405 AHAHE S 268,000 70,000 198,000
01 TR =S F=H 268,000 70,000 198,000
Otgsad =35 72 268,000
oAz 2e|(2Y) 15,000 0 15,000
201 er2 3| 15,000 15,000
02 S3=4gl 15,000 15,000
O™IIl, =& S 22 g8 % X2
) RFHl, 288 S 15,000
SEIHEFS 991,488 928,128 63,360
= 482,914
= 508,574
ZE(29) 144,326 179,380 A35,054
= 59,333
=S 84,993
202 04l 1,422 1,883 A461
= 742
< 680
01 =LHOHI 1,422 1,883 A461
OES= 1,422
= 742
< 680
401 AIEHIZ SR OHYI 142,904 177,497 A34,593
= 58,591
= 84,313




A ARITEOIRA
Hm: NRBADE
Eelr AEARSS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 136,929 169,630 A32,701
(OEN= 136,929
= 56, 141
< 80,788
02 Zeltl 5,720 7,060 1,340
OE= 5,720
= 2,345
= 3,375
03 Al 20HHI 255 807 ADB52
OES= 255
= 105
== 150
N Ss 2 (2Y) 104,084 208,170 /104,086
= 52,042
= 52,042
202 04| 1,040 2,186 1,146
= 520
= 520
01 =LHOLI 1,040 2,186 A1,146
OXEE3t A 1,040
= 520
= 520
401 Al HIZ 2018 103,044 205,984 /102,940
= 51,622
[ 51,522
01 A28l 99,812 202,216 A102,404
OXNHEsEE 99,812
= 49,906
= 49,906
02 22/l 2,400 2,832 A432
OXNESatxd 2,400
= 1,200
=S 1,200
03 Al 2 HYI 832 936 A104
OXNEEstxE 832
= 416
< 416
FASIORI|(2E) 607,478 535,578 71,900
= 303,739
= 303,739
202 04| 4,860 5,624 AT64
= 2,430
=S 2,430

&




A ARITEOIRA
M pARlEAEE
Chel: MEIRAEA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 4,860 5,624 NT64
O=2t301 4,860
= 2,430
S 2,430
401 Al HIZ S OHHI 602,618 529,954 72,664
= 301,309
= 301,309
01 AlZ8| 557,404 489,044 68,360
O=IH20| 557,404
= 218,702
= 278,702
02 Zeltl 44,000 38,500 5,500
O=2t301 44,000
= 22,000
[ 22,000
03 Al =2 THHI 1,214 2,410 AT1,196
O=It0| 1,214
= 607
= 607
OIMEX M2 SA=HR1(EE) 135,600 0 135,600
= 67,800
== 67,800
202 04l 1,084 0 1,084
= 542
[ 542
01 =LHOHI 1,084 0 1,084
O3zt 1,084
= 542
= 542
401 AIEHIZ SR 0HYI 134,516 0 134,516
= 67,258
= 67,258
01 Al&H| 126,444 0 126,444
O3=IH] 126,444
= 63,222
== 63,222
02 Zcltl 7,800 0 7,800
O3zt 7,800
= 3,900
= 3,900
03 Al 20HHI 272 0 272
O3zt 272
= 136
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